

Line Number	Downline	Weekly Payment \$5.00	Weekly downline Earnings
Line 0	1	-\$5.00	-\$5.00
Line 1	5	\$1.00	\$5.00
Line 2	25	\$1.00	\$25.00
Line 3	125	\$0.50	\$62.50
Line 4	625	\$0.50	\$312.50
Line 5	3125	\$0.25	\$781.25
Line 6	15,625	\$.75	\$11,718.75
		\$4.00	\$12,905.00

^{**}DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.

Line Number	Downline	Weekly Payment \$5.00	Weekly downline Earnings
Line 0	1	-\$10.00	-\$10.00
Line 1	5	\$2.00	\$10.00
Line 2	25	\$2.00	\$50.00
Line 3	125	\$1.00	\$125.50
Line 4	625	\$1.00	\$625.00
Line 5	3125	\$0.50	\$1,562.50
Line 6	15,625	\$1.50	\$23,437.50
		\$8.00	\$25,810.00

You upgrade from Level 1 Certificate to Level 2. You no longer get paid on that Level 1 Certificate when it matures.

You do still however continue to receive commissions from your Level 1 Certificate matrix.

DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.

Line Number	Downline	Weekly Payment \$20.00	Weekly downline Earnings
Line 0	1	-\$20.00	-\$20.00
Line 1	5	\$4.00	\$20.00
Line 2	25	\$4.00	\$10000
Line 3	125	\$2.00	\$250.00
Line 4	625	\$2.00	\$1,250.00
Line 5	3125	\$1.00	\$3,125.00
Line 6	15,625	\$3.00	\$46,875.00
		\$16.00	\$51,620.00

DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.

You upgrade from Level 2 Certificate to Level 3. You no longer get paid on that Level 2 Certificate when it matures.

You do still however continue to receive commissions from your Level 2 Certificate matrix, and each previous matrix.

Line Number	Downline	Weekly Payment \$40.00	Weekly downline Earnings
Line 0	1	-40.00	-40.00
Line 1	5	\$8.00	\$40.00
Line 2	25	\$8.00	\$200.00
Line 3	125	\$4.00	\$500.00
Line 4	625	\$4.00	\$2,500.00
Line 5	3125	\$2.00	\$6,250.00
Line 6	15,625	\$6.00	\$93,750.00
		\$32.00	\$103,240.00

DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.

You upgrade from Level 3 Certificate to Level 4. You no longer get paid on that Level 3. Certificate when it matures.

You do still however continue to receive commissions from your Level 3 Certificate matrix, and each previous matrix.

Line Number	Downline	Weekly Payment \$80.00	Weekly downline Earnings
Line 0	1	-\$80.00	-\$80.00
Line 1	5	\$16.00	\$80.00
Line 2	25	\$16.00	\$40000
Line 3	125	\$8.00	\$1,000.00
Line 4	625	\$8.00	\$5,000.00
Line 5	3125	\$4.00	\$12,500.00
Line 6	15,625	\$12.00	\$187,500.00
		\$64.00	\$206,480.00

DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.

You upgrade from Level 4 Certificate to Level 5. You no longer get paid on that Level 4. Certificate when it matures.

You do still however continue to receive commissions from your Level 4 Certificate matrix, and each previous matrix.

Line Number	Downline	Weekly Payment \$80.00	Weekly downline Earnings
Line 0	1	-\$160.00	-\$160.00
Line 1	5	\$32.00	\$160.00
Line 2	25	\$32.00	\$80000
Line 3	125	\$16.00	\$2,000.00
Line 4	625	\$16.00	\$10,000.00
Line 5	3125	\$8.00	\$25,000.00
Line 6	15,625	\$24.00	\$375,000.00
		\$128.00	\$412,960.00

DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.

You upgrade from Level 5 Certificate to Level 6. You no longer get paid on that Level 5. Certificate when it matures.

You do still however continue to receive commissions from your Level 5 Certificate matrix, and each previous matrix.

Medical Marketing Project

\$813,015.00 Weekly

DISCLAIMER – There is no guarantee that you will make these levels of income. Earnings and income statements differ by individual.